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Ireated as case of unfair means.
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1. (a)You have a single hidden-layer neural network for a binary cla mn task. The input is
X € R™™, output § € RT*™ and true label y € RY¥™™ The forw _ It)‘jaa‘gation equations are;
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Write the expression for 5%]- as, »f':@ %oduct of two terms. CO-2105]
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(b) Solve the XOR with ahifigedfayer shown Below. CO-2[2.5]
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2. t'y('é‘)" Exﬁtam how to calculate linear regression using least square method  CO-. 2 [5]
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(b) You are designing a deep learning system to detect driver fatigue in cars. It is crucial
that that your model detects fatigue, to prevent any accidents. Which of the following is
the most appropriate evaluation metric: Accuracy, Precision, Recall, Loss Value. Explain
your choice. CO-3 [2.5]



3, Using neural backpropagation Calculate:

i, H‘lr Hz, OutHl,OutHz
il Yll Yz, OutYi, OutYZ
111. Erotal
iv. Updated weights ws and Wg
Given:
w, = 0.15 I we = 0,40 = .05
= (.20 Wﬁ = (.45 = 0.10 n= 0.01
w3 =025 = 0.50 b, = 0.35 | Leaming Rate
Wy = 0.30 WB = 0.55
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